

$$aq^9 = \frac{1}{p} \times 12^9 = 12^9 = 12^9$$

$$\frac{a_{12}}{a_{13}} = q^{12} = 12^9 \quad (1)$$

(2)

$$a_9 = 12^9 \Leftrightarrow \frac{1}{p} \times 12^9 = 12^9 \Leftrightarrow 12^9 = 12^9 \quad (3)$$

$$\left. \begin{aligned} a_8 &= aq^8 = 12 \\ a_{11} &= aq^{11} = 12^9 \end{aligned} \right\} \Rightarrow q^3 = 1 \Rightarrow q = 1 \Rightarrow a = \frac{12}{1}$$

$$a_1 = \frac{12}{1} \times 1^0 = \frac{12 \times 1}{1} = 12$$

$$(a_1)^a \times q^{10} = 12^{12}$$

$$aq^{10} = \frac{12^{12}}{12^a q^a} \Rightarrow 12^{12} = 12^a q^{10-a}$$

$$12^{a+b} = 12^a \Rightarrow a+b = a$$

$$a = b - a$$

1

$$\left. \begin{aligned} aq^r &= 1-n \\ aq^s &= n \\ aq^t &= n+1 \end{aligned} \right\}$$

$$\frac{n+1}{n} = \frac{n}{1-n} \Rightarrow n^2 = n+1-n^2-n$$

$$\Rightarrow |n^2 - 1| = n$$

$$\Rightarrow n^2 = +\frac{1}{n} \Rightarrow n = \pm \sqrt{\frac{1}{n}}$$

$$\left. \begin{aligned} a + aq^{\sqrt{2}} &= 11 \Rightarrow a(q^{\sqrt{2}} + 1) = 11 \\ aq^{\sqrt{2}} + aq^{\sqrt{2}} &= 12 \Rightarrow aq^{\sqrt{2}}(q^{\sqrt{2}} + 1) = 12 \end{aligned} \right\} \frac{q^{\sqrt{2}} + 1}{q^{\sqrt{2}} + q^{\sqrt{2}}} = \frac{11}{12} \Rightarrow q^{\sqrt{2}} = 11$$

$$\boxed{a_1 = 1 \times 11 = 11}$$

$$(b_1, a_1) = 11 \Rightarrow a_1 = 11 = aq$$

$$a_1 + 11 + 11q = 11 \Rightarrow a + 11q = 1 \Rightarrow a = 1, q = 0$$

$$\frac{11q^{\sqrt{2}} - 1}{q^{\sqrt{2}} - 1} \Rightarrow 11q^{\sqrt{2}} + 11q^{\sqrt{2}} + \dots \Rightarrow \boxed{1, 11, 11, 11, \dots}$$

$$\frac{11q^{\sqrt{2}} - 1}{q^{\sqrt{2}} - 1} =$$